Desde (ALFA =0, OMEGA = 100%) hasta (ALFA = 85%, OMEGA = 15%)
Desde (Rp =30%, sp=60%) hasta (Rp =17%, sp = 16,4%)

(ALFA = 85%, OMEGA = 15%)
(Rp = 17%, sp = 16,4%)

PORTAFOLIO DE MAYOR RENTABILIDAD

(ALFA = 0, OMEGA = 85%)
(Rp = 30%, sp = 60%)
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| 6] %a 0.2 0,6
| 7] (anual) 0,04
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| 10] =+E4 Rp sp
| 11} a Rp vs op =1-D11 =+D11*$DS5+E11*SESS =+(D11A2*$D$6N2+E11A2*SES6M2+2* D11 *EL1*$D$7)10,5
| 12] 35% =1-D12 =+D12*$DS5+E12*SESS =+(D12A2*$DS6A2+E1272*SES6A2+2*D12*E12*5D$7)10,5
| 13} =1-D13 =+D13*$D$5+E13*SESS =+(D1312*$D$6"2+E1312*SES612+2*D13*E13*$D$7)"0,5
| 14] =1-D14 =+D14*$DS5+E14*SESS =+(D1472*$DS6A2+E1472*SES6A2+2*D14*E14*5D$7)10,5
| 15} B =1-D15 =+D15*$D$5+E15*SESS =+(D15/2*$D$612+E1512*SES6A2+2*D15*E15*$D$7)"0,5
_16] =1-D16 =+D16*SDS5+E16*SESS =+(D1672*$DS6A2+E1672*SES6/2+2*D16*E16*5D$7)10,5
17} 25% =1-017 =+D17*$D$5+E17*SESS =+(D1742*$D$612+E1772*SES6A2+2*D17*E17*$D$7)"0,5
18] =1-D18 =+D18*SDS5+E18*SESS =+(D1872*$DS6A2+E1872*SES6A2+2*D18*E18*$D$7)10,5
m s =1-D19 =+D19*$D$5+E19*SESS =+(D1972*$D$6"2+E1972*SES6A2+2*D19*E19*$D$7)"0,5
. 20] =1-D20 =+D20*$DS5+E20*SESS =+(D2072*$D$6A2+E2072*SES6/2+2*D20*E20*$D$7)10,5
| 21} =1-D21 =+D21*$D$5+E21*$ESS =+(D2112*$D$612+E2112* SES6A2+2*D21*E21*$D$7)"0,5
| 22] 15% =1-D22 =+D22*$DS5+E22*SESS =+(D22/2*$DS6A2+E2212*SES6A2+2*D22*E22*5D$7)10,5
23] =1-D23 =+D23*$D$5+E23*$ESS =+(D2312*$D$612+E2312*SES6A2+2*D23*E23*$D$7)"0,5
| 24] 10% =1-D24 =+D24*$DS5+E24*SESS =+(D2472*$DS6A2+E24M2*SES6A2+2*D24*E24*$D$7)10,5
| 25} =1-D25 =+D25*$D$5+E25*SESS =+(D2512*$D$612+E2512* SES6A2+2*D25*E25*$D$7)"0,5
| 26] 5% =1-D26 =+D26*SDS5+E26*SESS =+(D26"2*$DS6A2+E2612*SES6/2+2*D26*E26*5D$7)10,5
| 27} =1-D27 =+D27*$D$5+E27*$ESS =+(D: D62+ E$612+2*D27*E27*5D$7)10,5
28] =1-D28 =+D28*SDS5+E28*SESS =+(D28"2*$DS6A2+E28M2*SES6/2+2*D28*E28*$D$7)10,5
20} e T =1-D29 =+D29*$D$5+E29*$ESS =+(D2912*$D$612+E2972* SES6A2+2*D29*E29*$D$7)"0,5
| 30] 0% RO =1-D30 =+D30*$D$5+E30*SESS =+(D30°2*$D$6"2+E3012*SES612+2* D30*E30*$D$7)40,5
31} =1-D31 =+D31*$D$5+E31*$ESS =+(D3112*$D$612+E3112*SES612+2*D31*E31*$D$7)"0,5
32
E b. FRONTERA EFICIENTE c PORTAFOLIO DE MENOR RIESGO ]
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